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LEARN CHINESE FROM MODERN WRITERS (WORKBOOK)
%

1. CBLEZEL 24D
Receiver of action 52 (%)) (doer of actionft]) + disyllabic transitive verb.

“Receiver of action” be *““verbed’” by ““doer of action”.

These verbs in Unit 1 of the Workbook can be used in this structure:

(eUIRER 02 Jhue L P VLSS TS NG ER R N L A

i 1)
a. fEHP ], BARTER IR 2 CRK)#ad,
b. 767 B KK pE R, IR 2 HAE# A2 2 T RR R PR 1

g e8] (make a sentence)

2. (E3HE201T)
S(VO)V #.....KHE .
Sadj. #...... I

S VO so much -- to the extent that ...... .
S be so adj -- to the extent that...... .

What immediately precedes “[1] i 26 must be something unpleasant.

1)
a. H R B AR R S R PR T AR IR N PR S 21 1 A2 A — B 7 B Hu D
b. PR 2% B 48— 2 BH S ABOR IS, Wy BV 21 T K B R D

g B8] (make a sentence)
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3. (BE3FEH181T)
...... , Sf)ﬁiﬂﬁa VP,

i fwis used to express the speaker’s disapproval of the S for VP.

(IKETR

a A BER AR IR N &EUS, R Ah b =8 b TN LT

b A A R A B AR i I RA S, 2, ] A A 2R, ARE B,
A RERIEE AL T o

g EEEvEE A1) (make a sentence)

4. CHAHZELI01T)
...... , SIXIE VP, anyway; no matter what

IKETR
a. B RARAT R A TR FT B ah AT, RIEIR— R & EZK .
b. FRAMFEAR L B Al 00, ROERA L,

Higf =B85 4] (make a sentence)

—: Hn#A R . Make sentences with the given word(s). If there are
4 or 5 words, use a minimum of 3 words.

1. (SF1A1517) EZ E
pa) - ADSNDRMITIHRSA K a3 A wboil, JLEMITRSA L
W2 B R
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2. (GB2HH2AT) kil
Fla) - SCARFar LR, PRI T LR A E, b
D AL ) 1t 552 32 R

3. (BLE) HEr B ®K O WA
4. (p2E) BN RE s Am
5. (431) i O R G R
6. (A54ET) B Bk g 2
7. (485H) 38 G R soF RE
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= [l F e (e D> R i DU AT)

1 %8l Lo DU TE S 2 B AU AT R A . IR A AT B R RS, A
SERN, BN AR, BRI, 5550

2. WM T s B AR AR 55 1)/ IR AR S 82
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